
D 51518 (Page6 : 3) N4,,'e............'...'..'-.......-----

Reg. No............,.........,.......--

THIRD SEMESTER B.Sc. DEGREE EXAMINATION' NOVEMBER 2013

(uc-.ccss)

Complcmentary Course-Statistics

ST 3C O:}_STATISTICAL INTERENCE

Time : I'hree Hours Maximum : 30 Weightage

Part A

Ansuer 
^11 

questians.
Each questiDtL car es Yr weahtage.

1. The mean ofthc Chi-squarc disl,ribution with D d.f. is :

la) n. (b\ 2n.
(c\ n-2. (d) None ofthese.

2. IfXfollows N (0, 1) and Yfollows a Chi-square with z ilegrees offreedon then $ is distributed

a5:
(a) Chi-square with n-1 degrees ofileedom.

ft) t-distribution with n-! degrees offreedom-

(c) tdistdbution with z degrees offreedom.
(d) Chi-square with n degrees oflleedom.

3. Standard deviation of the sampling distribution of au estimator is called :

(a) Sampling error. (b) Standard error.
(c) Means square effor. (d) None ofthese.

4. Ift. is consistent estimator ofe then as z -+@:

(a) var (rn) >0. (b) Var (t")=0.

(c) Var (to)-+-. (d) Var (tz)-+o.

5. ffX1,&,...,X,isarandonsamplefroroapopulationp'(1-p)t-t forr=0, land0<p<1,the
sufrcieDt statistics for p is :

(a) !!1&. (b) Ili=l&.
(c) Both (a) and (b). (d) None ofthese.

6- Fisher Nel.man factorizstion criterion is used to obtain an estimator which is :

(a) Consistent. (b) Unbiased.

(c) Efficient. (d) SulEcient.
Turn over
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7. Wbich of the following tcsl, is a test for goodness offit :

(a) t-test. (b) F-tcst.
(c) Chi-square test. (d) All ofthe above.

8. For a fixed confidence co-efficient (1-c.), the most preferred confidence interval for the parameter
eisone:

(a) With shortest width. (b) With largest width.
(c) With an average width. (d) None ofthese.

9. A hypothesis which complctely specified the fofm ofthe distribution ofthe population is called:
(a) Simple. (b) Composite.
(c) Null. (d) None ofthese.

10. Level of signficance is the probability of:
(a) Type I error. (b) I}pe II error.
(c) No error. (d) None ofthese.

11. Di€tribution of the test statistic used to test ltn:or=cf,, where s2 is the variatce ofa lormal
population with known mean :

(a) Chi-square distribution with n-1 degrees offieedom.
(b) Chi-square distribution with n degrees of freedom,
(c) t distributiot with D-1 degrees of freedom.
(d) , distribution with n degrees offreedom.

12. The value of Chi-square statistic is zero if and only if :

(a) !; o; =l;E;.
(b) Or=B 161t1;.
(c) E, is large.

(12xya=3weightage)

Part B

- .._. Answer allnine questions.
'Each questinn caties I ueiEhtage.

13. DefiDe a r-statistics.

14. IfXr, Xr, ..., \ is a random sample from a normal population with mean p andvariance o2, obtain
I

tbe distribution of : Il-, Xi .

15. Distinguish betFeen poitt estimation and interval estiEation.
16. Define consistency of estimatdrs.

17. Define the concept ofefficiency.
18. IfX1, X2, ..., \ is a random sample fioin a uliform distributiol over (0, O), obtain the moment

estimator for 0.
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19, Defioe type I and tJTe II er:mr.

20. Deffne porrer ofa test.

21. Write down the test statistic used to test the equality of Bea.Ds oftwo normal populations, when
the variances are known.

(9x 1= I weiEhtage)

Port C

Answer any frite qaestiorrc,.

lach queetion carries 2 weighto4e.

22. State t}]e relation between the uormal, Chi-square, f and F distributions.
23. State Fisher Neyman factorization cdterion.
24. Describe maximum likelihood method ofestimation.

- 25. Obtain a sufficient estjmator for O using a sample ofsize nftomf k,gl = -;-=e-a-tze.
J21tg

26. Obtain a 95 % confideuce interval for the mean of a normal population when S.D. i6 known.
27. State Nelmran-Peargou Lernma.

28. Describe paired sample t-test.

(5x2=l0weightage)

, Part D

Ea#l:J:y:#:rY#*".
29. If&, &, ..., XD is a random sample ftom a normal population with meao p and vsriaace 09, obtain

the distribution of sample mean and varianc€.

30, *1Ir,-&,_:,--1, is a ratrdom sample froo a normal population with mean p and variance o2,
obtain the MLE s of F aod 02.

31. Explain the test procedure for test the equality ofvariances oftwo normal populations with known
\-, meartE'

(2x4=Sweightage)
.\


